OMB CONTROL NO.			-	TITLE OF INFORMATION COLLECTION REQUEST								DATE PREPARED			
	0579-0049												February 28, 2022		
TYPE	TYPE OF REQUEST				Foreign Quarantine Notices								PUBLIC COMMENT DOCKET NO.		
	R	enew	al											APHIS-20	021-0044
POIN	IT OF (CONT	ACT											FEDERAL REGIS	TER NOTICE
		rc Phi												86 FR	
TELE	PHON	IE NO												FEDERAL REGIS	TER DATE
	(301)	851-	2114											August 3	30, 2021
	PART I - SUMMARY														
	TOTAL I	RESPO	NDENTS	S	TOTAL AN	NUAL RESPONSES	% ELECTRONIC	RES	PONSES PER RESPOND	DENT	TOTAL I	BURDEN HOURS	HOURS PER RESPO	ONSE % SM/	ALL ENTITIES
	2	2,31	5		62,	,552,921	80%		2803		7	12,982	0.011		11%
							F	PART	II - LIST OF ACTIV	ITIES			•	'	
TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)		ACTIVITY DESCRIPTIC (title, respondent typ	ION ype, and type of change if discretionary)		FORM NO.	F	ORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)		(E)	(F)		(G)		(H)	(1)	(J)	(K)	(L)	
E	FG		I	7 CFR 319		Bilateral Operational Workplan (Foreign Gov't)		None			25	25	40.000	1,000	
	FG		_	7 CFR 319		Audit (Foreign G	Gov't)		None			1	1	1.000	1
	P1		-	7 CFR 319		Audit (Business)			None			1	1	1.000	1
	FG		ı	7 CFR 319		Requesting or Revising Pest Risk Assessment (Foreign Gov't)		None			25	25	5.000	125	
	P1		I	7 CFF	R 319	Requesting or R Assessment (Bu	Revising Pest Risk usiness)		None			5	5	2.000	10

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
E	FG		1	7 CFR 319	Cooperative Service Agreement with Trust Fund (Foreign Gov't)	None		60	60	40.000	2,400
	FG		I	7 CFR 319	Plant Broker, Production or Processing Site/Facility Registration (Foreign Government)	None		50	700	2.000	1,400
E	P1		I	7 CFR 319	Plant Broker, Production or Processing Site/Facility Registration (Business)	None		650	650	1.000	650
E	P1		I	7 CFR 319	Foreign Site Certificate of Inspection and/or Treatment (Business)	PPQ 203		60	37,500	0.500	18,750
E	P1		I	7 CFR 319	Application for Permit to Import Timber and Timber Products (Business)	PPQ 585		600	1,000	0.500	500
E	I		-	7 CFR 319	Application for Permit to Import Timber and Timber Products (Individual)	PPQ 585		50	50	0.500	25
E	P1		I	7 CFR 352	Application for Permit to Transfer Plants and/or Plant Products through the United States (Business)	PPQ 586		300	1,600	0.500	800
E	I		I	7 CFR 352	Application for Permit to Transfer Plants and/or Plant Products through the United States (Individual)	PPQ 586		100	400	0.500	200
E	P1		I	7 CFR 319	Application for Permit to Import Plants or Plant Products (Business)	PPQ 587		1,000	10,000	0.500	5,000

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
E	I		I	7 CFR 319	Application for Permit to Import Plants or Plant Products (Individual)	PPQ 587		500	6,000	0.500	3,000
E	P1		I	7 CFR 319	Application for Controlled Import Permit to Import Restricted or Not Authorized Plant Material (Business)	PPQ 588		400	800	0.250	200
E	I		I	7 CFR 319	Application for Controlled Import Permit to Import Restricted or Not Authorized Plant Material (Individual)	PPQ 588		100	100	0.250	25
	P1		I	7 CFR 319	Appeal of Denial or Revocation of Permit (Business)	None		1	1	1.000	1
	P1		I	7 CFR 319	Request for Additional Mailing Labels (Business)	PPQ 564		700	700	0.083	59
	I		-	7 CFR 319	Request for Additional Mailing Labels (Individual)	PPQ 564		70	70	0.083	6
	P1		_	7 CFR 319	Compliance Agreement (Business)	PPQ 519		200	200	1.250	250
	I		i	7 CFR 319	Compliance Agreement (Individual)	PPQ 519		20	20	1.250	25
E	FG		ı	7 CFR 319	Phytosanitary Certificate (Foreign Gov't)	None		75	180,000	0.333	59,940

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
Е	P1	×	I	7 CFR 319	Phytosanitary Certificate (Business)	None		1,200	180,000	0.167	30,060
E	FG		TP	7 CFR 319	Labeling and Marking (Foreign Gov't)	None		50	60,000	0.006	360
E	P1		TP	7 CFR 319	Labeling and Marking (Business)	None		600	60,000,000	0.006	360,000
E	FG		I	7 CFR 319	Importer Documents for Logs, Lumber, and Wood Mulch (Foreign Gov't)	None		3	2,000	0.500	1,000
E	P1		I	7 CFR 319	Importer Documents for Logs, Lumber, and Wood Mulch (Business)	None		1,000	5,000	0.500	2,500
E	S1	x	I	7 CFR 319	Agreement For Post Entry Quarantine State Screening Notice (State)	PPQ 546		40	60	0.250	15
E	P1		I	7 CFR 319	Agreement For Post Entry Quarantine State Screening Notice (Business)	PPQ 546		60	60	0.250	15
	I		I	7 CFR 319	Agreement For Post Entry Quarantine State Screening Notice (Individual)	PPQ 546		7	7	0.250	2
	P1		I	7 CFR 319	30-Day Article Notification (Business)	None		10	10	0.083	1

TYPE OF CHANGE	TYPE OF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	AUTHORITY (U.S.C., CFR, or Manual)	ACTIVITY DESCRIPTION (title, respondent type, and type of change if discretionary)	FORM NO.	FORMAT	ESTIMATED ANNUAL NUMBER OF RESPONDENTS or RECORDKEEPERS	ESTIMATED ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE or ANNUAL HOURS PER RECORDKEEPER	ESTIMATED ANNUAL BURDEN HOURS
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
	P1		I	7 CFR 352	Request for Emergency Trans-Shipment or Diversion (Business)	None		200	200	0.050	10
E	P1	x	I	7 CFR 319; 7 CFR 352	Notice of Arrival (Business)	PPQ 368		20,000	2,000,000	0.083	166,000
E	P1		I	7 CFR 319	Emergency Action Notice (Business)	PPQ 523		7,000	35,000	0.500	17,500
E	I	x	I	7 CFR 319	Emergency Action Notice (Individual)	PPQ 523		1,000	5,000	0.500	2,500
	P1		R	7 CFR 319	Training Records (Business)	None		1	1	1.000	1
	FG		I	7 CFR 319	Trapping, Production or Processing Site, Facility Records (Foreign Gov't)	None		50	25,000	0.250	6,250
	FG	x	R	7 CFR 319	Trapping, Production or Processing Site, Facilty Recordkeeping (Foreign Gov't)	None		75	75	48.000	3,600
E	P1		R	7 CFR 319	Trapping, Production or Processing Site, Facilty Recordkeeping (Business)	None		600	600	48.000	28,800